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QUESTION 1

Which statement about referential constraints is true? 

A. A referential constraint can be defined against a catalog table. 

B. A referential constraint can be defined on both tables and views. 

C. A referential constraint is used to enforce a logical rule about values of one or more columns in one or more tables. 

D. A referential constraint is used to enforce a logical rule about how values in one or more columns in a table should be
referenced in a query. 

Correct Answer: C 

 

QUESTION 2

Due to a hardware failure, it appears that there may be some corruption in database DB_1 as DB2 is reporting a "bad
page". DB2DART is performed for the entire database and it appears that several bad pages were detected in table
space TBSP_1. What command should be used to recover the database and repair the corruption in table space
TBSP_1? 

A. RESTART DATABASE 

B. RESTORE DATABASE 

C. RESTORE TABLESPACE 

D. ROLLFORWARD DATABASE 

Correct Answer: B 

 

QUESTION 3

Which statement regarding SECADM authority is true? 

A. The instance owner has SECADM authority by default. 

B. PUBLIC cannot receive SECADM authority, either directly or indirectly. 

C. Only users with SECADM authority are allowed to grant the CONNECT database authority to others. 

D. The SECADM_GROUP database manager configuration parameter determines who has SECADM authority by
default. 

Correct Answer: B 

 

QUESTION 4
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Which statement describes adaptive row compression? 

A. Adaptive compression allows for use of customized compression dictionary creation algorithms. 

B. Adaptive compression maintains a dynamic and ever changing table-level row compression dictionary. 

C. Adaptive compression incorporates both classic table-level row compression and page-by-page based row
compression. 

D. Adaptive compression incorporates four compression approaches: tablespace-level, table-level, page-level, and
bufferpool-level. 

Correct Answer: C 

 

QUESTION 5

Where are column mask definitions stored? 

A. In the table definition 

B. In the system catalog 

C. In the table space metadata 

D. In the database configuration file 

Correct Answer: B 
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